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BOTANY — GENERAL
Paper : GE/CC-1
Full Marks : 50

(X(1st Sm.)-Botany-G/GE/CC- 1)/CBCS )

Candidates are required to give their answers in their own words

as far as practicable.
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[English Version|]
The figures in the margin indicate full marks.

1. Answer any five questions : 2%5
(a) What is laminarin? Where is it found?
(b) Mention two diagnostic characters of Cyanophyceae.
(c) State two characteristic features of Ascomycotina.
(d) What is Mycorrhiza?
(e) What is Disease Triangle?
(f) What are hypoplastic symptoms?
(g) What is peristome teeth?
(h) What is calyptra?
(i) What is cambium? Mention its functions.

() What is secondary growth of plant?

2. Answer any two questions :

(a) State the role of algae in agriculture and industry. ) VS VA
(b) Write short notes on Deuteromycotina. 5
(c) Write a short note on Koch’s postulates. 5
(d) Write a short note on ecological and economic importance of bryophytes. 2V4+214

3. Answer any three questions :
(a) What are the characters of Rhodophyceae? Describe the asexual reproduction of Chlamydomonas.
4+6
(b) Mention the special characters of Basidiomycetes. Describe the sexual reproduction of Rhizopus.
4+6

(c) What is necrotroph? Name the causal organism of Brown spot of rice. State the symptoms, disease
cycle and control measure of the disease. 2+ 2424242

(d) Describe the structure of sporophyte of Marchantia. Mention the unifying features of
Archegoniates. S

(e) What is stomata? Classify stomata with proper drawing. Mention two anatomical differences
between monocot and dicot leaves. 1+7+2



